Middle-East Journal of Scientific Research 25 (2): 402-407, 2017 ISSN 1990-9233 © IDOSI Publications, 2017 DOI: 10.5829/idosi.mejsr.2017.402.407

## Homomorphism and Anti Homomorphism on a Bipolar Anti L - Fuzzy Sub ℓ - HX Group

<sup>1</sup>*R. Muthuraj and* <sup>2</sup>*G. Santha Meena* 

 <sup>1</sup>PG & Research Department of Mathematics, H.H. The Rajah's College, Pudukkottai – 622 001, Tamilnadu, India
 <sup>2</sup>Department of Mathematics, PSNA College of Engineering and Technology, Dindigul – 624 622, Tamilnadu, India

**Abstract:** In this paper, we introduce the concept of an anti image and anti pre-image of a bipolar L - fuzzy sub  $\ell$  - HX group of a group G and discuss the properties of bipolar anti L - fuzzy sub  $\ell$  - HX group under  $\ell$  - HX group homomorphism and  $\ell$  - HX group anti homomorphism.

Key words: Bipolar L - fuzzy ℓ - HX group • Bipolar anti L - fuzzy ℓ - HX group • ℓ - HX group homomorphism
 • ℓ - HX group anti homomorphism • Anti image and anti pre-image of bipolar L - fuzzy subgroup

## **INTRODUCTION**

The concept of fuzzy sets was initiated by Zadeh [1]. Then it has become a vigorous area of research in engineering, medical science, social science, graph theory etc. Rosenfeld [2] gave the idea of fuzzy subgroups. In fuzzy sets the membership degree of elements range over the interval [0, 1]. The membership degree expresses the degree of belongingness of elements to a fuzzy set. The membership degree 1 indicates that an element completely belongs to its corresponding fuzzy set and membership degree 0 indicates that an element does not belong to fuzzy set. The membership degrees on the interval (0, 1)indicate the partial membership to the fuzzy set. Sometimes, the membership degree means the satisfaction degree of elements to some property or constraint corresponding to a fuzzy set. Li Hongxing [3] introduced the concept of HX group and the authors Luo Chengzhong, Mi Honghai, Li Hongxing [4] introduced the concept of fuzzy HX group. The author W.R.Zhang [5] commenced the concept of bipolar fuzzy sets as a generalization of fuzzy sets in 1994. K.M. Lee [6] introduced Bipolar-valued fuzzy sets and their operations. In case of Bipolar-valued fuzzy sets membership degree range is enlarged from the interval [0, 1] to [-1, 1]. In a bipolar-valued fuzzy set, the membership degree 0 means that the elements are irrelevant to the corresponding property, the membership degree (0,1] indicates that elements somewhat satisfy the property and the membership degree [-1,0) indicates that elements somewhat satisfy the implicit counter-property. G.S.V.Satya Saibaba [7] initiated the study of L - fuzzy lattice ordered groups and introduced the notions of L fuzzy sub ℓ - HX group. J.A Goguen [8] replaced the valuation set [0, 1] by means of a complete lattice in an attempt to make a generalized study of fuzzy set theory by studying L - Fuzzy sets. R.Muthuraj, M.Sridharan [9] introduced Homomorphism and anti-homomorphism on a bipolar anti fuzzy sub HX groups. R.Muthuraj, T.Rakesh kumar [10] defined some characterization of L – fuzzy  $\ell$  -HX group. In this paper we define the concept of an anti image and anti pre-image of a bipolar L – fuzzy sub  $\ell$  - HX group and study some of their related properties.

**Preliminaries:** In this section, we site the fundamental definitions that will be used in the sequel. Throughout this paper, G = (G, .) is a group, e is the identity element of G and xy, we mean x. y

**Definition 2.1:** A Bipolar L - fuzzy set  $\mu$  in G is a bipolar L - fuzzy subgroup of G if for all  $x,y \in G$ .

- $\mu^+(xy) \ge \mu^+(x) \land \mu^+(y)$
- $\mu^{-}(xy) \leq \mu^{-}(x) \vee \mu^{-}(y)$
- $\mu^+(x^{-1}) = \mu^+(x), \ \mu^-(x^{-1}) = \mu^-(x).$

**Corresponding Author:** R. Muthuraj, PG & Research Department of Mathematics, H.H. The Rajah's College, Pudukkottai – 622 001, Tamilnadu, India. **Definition 2.2:** A Bipolar anti L - fuzzy set  $\mu$  in G is a bipolar anti L - fuzzy subgroup of G if for all  $x,y \in G$ .

- $\mu^+(xy) \le \mu^+(x) \lor \mu^+(y)$
- $\bullet \qquad \mu^{\text{-}}\left(xy\right) \geq \mu^{\text{-}}\left(x\right) \wedge \mu^{\text{-}}\left(y\right)$
- $\mu^+(x^{-1}) = \mu^+(x), \ \mu^-(x^{-1}) = \mu^-(x).$

**Definition 2.3:** Let  $\mu$  be a bipolar L - fuzzy subset defined on G. Let  $\vartheta \subset 2^G - \{\varphi\}$  be a  $\ell$  - HX group on G. A bipolar L - fuzzy set  $\lambda^{\mu}$  defined on  $\vartheta$  is said to be a bipolar  $\ell$  fuzzy sub  $\ell$  - HX group on  $\vartheta$  if for all  $A, B \in \vartheta$ .

- $(\lambda^{\mu})^{+}(AB) \geq (\lambda^{\mu})^{+}(A) \wedge (\lambda^{\mu})^{+}(B)$
- $(\lambda^{\mu})^{-}(AB) \leq (\lambda^{\mu})^{-}(A) \vee (\lambda^{\mu})^{-}(B)$
- $(\lambda^{\mu})^{+}(A) = (\lambda^{\mu})^{+}(A^{-1})$
- $(\lambda^{\mu})^{-}(A) = (\lambda^{\mu})^{-}(A^{-1})$
- $(\lambda^{\mu})^+ (A \lor B) \ge (\lambda^{\mu})^+ (A) \land (\lambda^{\mu})^+ (B)$
- $(\lambda^{\mu})^{-}(A \vee B) \leq (\lambda^{\mu})^{-}(A) \vee (\lambda^{\mu})^{-}(B)$
- $(\lambda^{\mu})^{+}(A \wedge B) \geq (\lambda^{\mu})^{+}(A) \wedge (\lambda^{\mu})^{+}(B)$
- $(\lambda^{\mu})^{-}(A \land B) \leq (\lambda^{\mu})^{-}(A) \lor (\lambda^{\mu})^{-}(B)$

where  $(\lambda^{\mu})^+(A) = \max \{\mu^+(x) \mid \text{ for all } x \in A \subseteq G\}$ and  $(\lambda^{\mu})^-(A) = \min \{\mu^-(x) \mid \text{ for all } x \in A \subseteq G\}$ 

**Example 2.1:** Let G={Z<sub>5</sub> - {0},.<sub>5</sub>} be a group and define a bipolar L- fuzzy set  $\mu$  on G as  $\mu^+(1) = 0.7$ ,  $\mu^+(2) = 0.6$ ,  $\mu^+(3) = 0.6$ ,  $\mu^+(4) = 0.6$  and  $\mu^-(1) = -0.8$ ,  $\mu^-(2) = -0.5$ ,  $\mu^-(3) = -0.5$ ,  $\mu^-(4) = -0.5$ .

By routine computations, it is easy to see that  $\mu$  is a bipolar L-fuzzy sub group of G.

Let  $\vartheta = \{\{1, 4\}, \{2, 3\}\}$  be a  $\ell$  - HX group of G. Let us consider A =  $\{1, 4\}, B = \{2, 3\}.$ 

·5	А	В	Λ	А	В	V	А	В
А	А	В	А	А	А	А	А	В
В	В	А	В	Α	В	в	В	В

Define  $(\lambda^{\mu})^+(A) = \max \{\mu^+(x) / \text{ for all } x \in A \subseteq G\}$ and

$$(\lambda^{\mu})^{r}(\mathbf{A}) = \min\{\mu^{r}(\mathbf{x}) \mid \text{ for all } \mathbf{x} \in \mathbf{A} \subseteq \mathbf{G}\}$$

Now

$$\begin{split} & (\lambda^{\mu})^{+}(A) = (\lambda^{\mu})^{+}(\{1,4\}) = \max \{\mu^{+}(1), \mu^{+}(4)\} = \max \{0.7, 0.6\} = 0.7 \\ & (\lambda^{\mu})^{+}(B) = (\lambda^{\mu})^{+}(\{2,3\}) = \max \{\mu^{+}(2), \mu^{+}(3)\} = \max \{0.6, 0.6\} = 0.6 \\ & (\lambda^{\mu})^{+}(A B) = (\lambda^{\mu})^{+}(B) = 0.6 \\ & (\lambda^{\mu})^{+}(A \lor B) = (\lambda^{\mu})^{+}(B) = 0.6 \\ & (\lambda^{\mu})^{+}(A \lor B) = (\lambda^{\mu})^{+}(B) = 0.6 \\ & (\lambda^{\mu})^{-}(A) = (\lambda^{\mu})^{-}(\{1,4\}) = \min \{\mu^{-}(1), \mu^{-}(4)\} = \min \{-0.8, -0.5\} = -0.8 \\ & (\lambda^{\mu})^{-}(A B) = (\lambda^{\mu})^{-}(B) = -0.5 \\ & (\lambda^{\mu})^{-}(A \lor B) = (\lambda^{\mu})^{-}(B) = -0.5 \\ & (\lambda^{\mu})^{-}(A \lor B) = (\lambda^{\mu})^{-}(B) = -0.5 \\ \end{split}$$

By routine computations, it is easy to see that  $\lambda^{\mu}$  is a bipolar L-fuzzy sub  $\ell$  - HX group of  $\vartheta$ .

**Definition 2.4:** Let  $\mu$  be a bipolar L - fuzzy subset defined on G. Let  $\vartheta \subset 2^G - \{\varphi\}$  be a  $\ell$  - HX group on G. A bipolar L - fuzzy set  $\lambda^{\mu}$  defined on  $\vartheta$  is said to be a bipolar anti L fuzzy sub  $\ell$  - HX group on  $\vartheta$  if for all A,B $\in \vartheta$ .

- $(\lambda^{\mu})^+ (AB) \leq (\lambda^{\mu})^+ (A) \vee (\lambda^{\mu})^+ (B)$
- $(\lambda^{\mu})^{-}(AB) \geq (\lambda^{\mu})^{-}(A) \wedge (\lambda^{\mu})^{-}(B)$
- $(\lambda^{\mu})^{+}(A) = (\lambda^{\mu})^{+}(A^{-1})$
- $(\lambda^{\mu})^{-}(A) = (\lambda^{\mu})^{-}(A^{-1})$
- $(\lambda^{\mu})^{+}(A \vee B) \leq (\lambda^{\mu})^{+}(A) \vee (\lambda^{\mu})^{+}(B)$
- $(\lambda^{\mu})^{-}(A \lor B) \geq (\lambda^{\mu})^{-}(A) \land (\lambda^{\mu})^{-}(B)$
- $(\lambda^{\mu})^{+}(A \land B) \leq (\lambda^{\mu})^{+}(A) \lor (\lambda^{\mu})^{+}(B)$
- $(\lambda^{\mu})^{-}(A \wedge B) \geq (\lambda^{\mu})^{-}(A) \wedge (\lambda^{\mu})^{-}(B)$

where  $(\lambda^{\mu})^+(A) = \min \{\mu^+(x) \mid \text{for all } x \in A \subseteq G\}$ and  $(\lambda^{\mu})^+(A) = \max \{-1, -1\}, -1\}$ 

 $(\lambda^{\mu})^{-}(A) = \max\{ \mu^{-}(x) \mid \text{ for all } x \in A \subseteq G \}$ 

**Example 2.2:** Let G={Z<sub>5</sub> - {0},.<sub>5</sub>} be a group and define a bipolar L- fuzzy set  $\mu$  on G as  $\mu^+(1) = 0.3$ ,  $\mu^+(2) = 0.7$ ,  $\mu^+(3) = 0.7$ ,  $\mu^+(4) = 0.7$  and  $\mu^-(1) = -0.4$ ,  $\mu^-(2) = -0.6$ ,  $\mu^-(3) = -0.6$ ,  $\mu^-(4) = -0.6$ 

By routine computations, it is easy to see that  $\mu$  is a bipolar anti L-fuzzy subgroup of G.

Let  $\vartheta = \{\{1, 4\}, \{2, 3\}\}$  be a  $\ell$  - HX group of G. Let us consider A =  $\{1, 4\}, B = \{2, 3\}.$ 

.5	Α	В	$\wedge$	Α	В	$\vee$	Α	в
A	А	В	Α	А	Α	А	Α	В
В	В	А	в	А	в	В	в	В

Define  $(\lambda^{\mu})^{+}(A) = \min \{\mu^{+}(x) \mid \text{for all } x \in A \subseteq G\}$ 

$$(\lambda^{\mu})^{\text{-}}(A) = max\{\mu^{\text{-}}(x) \mid \text{for all } x \in A \subseteq G\}$$

and

Now

$$\begin{split} & (\lambda^{\mu})^{+}(A) = (\lambda^{\mu})^{+}(\{1,4\}) = \min \{\mu^{+}(1),\mu^{+}(4)\} = \min \{0.3,0.7\} = 0.3 \\ & (\lambda^{\mu})^{+}(B) = (\lambda^{\mu})^{+}(\{2,3\}) = \min \{\mu^{+}(2),\mu^{+}(3)\} = \min \{0.7,0.7\} = 0.7 \\ & (\lambda^{\mu})^{+}(AB) = (\lambda^{\mu})^{+}(B) = 0.7 \\ & (\lambda^{\mu})^{+}(A \setminus B) = (\lambda^{\mu})^{+}(B) = 0.7 \\ & (\lambda^{\mu})^{-}(A) = (\lambda^{\mu})^{-}(\{1,4\}) = \max \{\mu^{-}(1),\mu^{-}(4)\} = \max \{-0.4,-0.6\} = -0.4 \\ & (\lambda^{\mu})^{-}(B) = (\lambda^{\mu})^{-}(B) = -0.6 \\ & (\lambda^{\mu})^{-}(A \setminus B) = (\lambda^{\mu})^{-}(B) = -0.4 \\ & (\lambda^{\mu})^{-}(A \setminus B) = (\lambda^{\mu})^{-}(B) = -0.6 \end{split}$$

By routine computations, it is easy to see that  $\lambda^{\mu}$  is a bipolar anti L-fuzzy sub  $\ell$  - HX group of  $\vartheta$ .

**Definition 2.5:** Let  $\vartheta_1$  and  $\vartheta_2$  be any two  $\ell$  - HX groups on  $G_1$  and  $G_2$  respectively. The function f:  $\vartheta_1 \rightarrow \vartheta_2$  is called an  $\ell$  - HX group homomorphism if for all A,B in  $\vartheta_1$ .

- f(AB) = f(A) f(B),
- $f(A \lor B) = f(A) \lor f(B)$ ,
- $f(A \land B) = f(A) \land f(B)$ .

**Definition 2.6:** Let  $\vartheta_1$  and  $\vartheta_2$  be any two l - HX groups on G and G respectively. The function f:  $\vartheta_1 \rightarrow \vartheta_2$  is called an  $\ell$  - HX group anti homomorphism if for all A,B in  $\vartheta_1$ .

- f(AB) = f(B) f(A),
- $f(A \lor B) = f(A) \lor f(B),$
- $f(A \land B) = f(A) \land f(B).$

**Definition 2.7:** Let  $G_1$  and  $G_2$  be any two groups. Let  $\vartheta_1 = 2^{G_1} - \{\varphi\}$  and  $\vartheta_2 = 2^{G_2} - \{\varphi\}$  be any two l - HX groups defined on  $G_1$  and  $G_2$  respectively. Let  $\mu = (\mu^+, \mu^-)$  and  $\alpha = (\alpha^+, \alpha^-)$  are bipolar L - fuzzy subsets in  $G_1$  and  $G_2$  respectively. Let  $\lambda^{\mu} = ((\lambda^{\mu})^+, (\lambda^{\mu})^-)$  and  $\eta^{\alpha} = ((\eta^{\alpha})^+, (\eta^{\alpha})^-)$  are bipolar L - fuzzy subsets in  $\vartheta_1$  and  $\vartheta_2$  respectively. Let f:  $\vartheta_1 \to \vartheta_2$  be a mapping then the anti image  $f_a(\lambda^{\mu})$  of  $\lambda^{\mu}$  is the bipolar L - fuzzy subset

 $f_a(\lambda^{\mu}) = ((f_a(\lambda^{\mu}))^+, (f_a(\lambda^{\mu}))^-) \text{ of } \vartheta_2 \text{ defined as for each } U \in \vartheta_2$ 

$$(f_{a} (\lambda^{\mu}))^{+} (U) = \begin{cases} \min\{(\lambda^{\mu})+(X): X \in f^{-1}(U)\}, \text{ if } f^{-1}(U) \neq \phi \\ \\ 1, & \text{otherwise} \end{cases}$$

and

$$(f_{a} (\lambda^{\mu}))^{-} (U) = \begin{cases} \min\{(\lambda^{\mu}) + (X): X \in f^{-1}(U)\}, \text{ if } f^{-1}(U) \neq \phi \\ \\ -1 & \text{ otherwise} \end{cases}$$

and the anti pre-image  $f_a^{-1}(\eta^{\alpha})$  of  $\eta^{\alpha}$  under f is the bipolar L - fuzzy subset of  $\vartheta_1$  defined as for each  $X \in \vartheta_1$ ,  $((f_a^{-1}(\eta^{\alpha}))^+(X) = (\eta^{\alpha})^+(f_a(X)), (f_a^{-1}(\eta^{\alpha}))^-(X) = (\eta^{\alpha})^-(f_a(X)).$ 

Properties of a Bipolar anti L - fuzzy sub  $\ell$  - HX group under  $\ell$  - HX group homomorphism and  $\ell$  - HX group anti homomorphism: In this section, we define the notion of an anti image and anti pre-image of bipolar anti L - fuzzy sub  $\ell$  - HX group of a  $\ell$  - HX group under  $\ell$  - HX group homomorphism and l - HX group anti homomorphism.

**Theorem 3.1:** Let f be a homomrphism from a  $\ell$  - HX group  $\vartheta_1$  in to a  $\ell$  - HX group  $\vartheta_2$ . If  $\eta^{\alpha} = ((\eta^{\alpha})^+, (\eta^{\alpha})^-)$  is a bipolar L - fuzzy subset of  $\vartheta_2$  then  $f^{-1}((\eta^{\alpha})^c) = [f^{-1}(\eta^{\alpha})]^c$ 

**Proof:** Let  $\eta^{\alpha} = ((\eta^{\alpha})^+, (\eta^{\alpha})^-)$  be a bipolar L-fuzzy subset of  $\vartheta_2$  then for each  $X \in \vartheta_1$ 

• 
$$[f^{-1}((\eta^{\alpha})^{c})]^{+}(X) = ((\eta^{\alpha})^{c})^{+}(f(X))$$
  
 $= 1 - (\eta^{\alpha})^{+}(f(X))$   
 $= 1 - f^{-1}((\eta^{\alpha})^{+})(X)$   
 $= [f^{-1}((\eta^{\alpha})^{+})]^{c}(X)$   
 $[f^{-1}((\eta^{\alpha})^{c})]^{+} = [f^{-1}((\eta^{\alpha})^{+})]^{c}$   
•  $[f^{-1}((\eta^{\alpha})^{c})]^{-}(X) = ((\eta^{\alpha})^{c})^{-}(f(X))$   
 $= -1 - (\eta^{\alpha})^{-}(f(X))$   
 $= -1 - f^{-1}((\eta^{\alpha})^{-})(X)$   
 $= [f^{-1}((\eta^{\alpha})^{-})]^{c}(X)$   
 $[f^{-1}((\eta^{\alpha})^{c})]^{-} = [f^{-1}((\eta^{\alpha})^{-})]^{c}$   
Hence,  $f^{-1}((\eta^{\alpha})^{c}) = [f^{-1}(\eta^{\alpha})]^{c}$ 

**Theorem 3.2:** Let f be a homomorphism from a  $\ell$  - HX group  $\vartheta_1$  in to a  $\ell$  - HX group  $\vartheta_2$ . If  $\lambda^{\mu} = ((\lambda^{\mu})^+, (\lambda^{\mu})^-)$  is a bipolar L-fuzzy subset of  $\vartheta_1$  then

- $f((\lambda^{\mu})^{c}) = (f_{a}(\lambda^{\mu}))^{c}$
- $f_a((\lambda^{\mu})^c) = (f(\lambda^{\mu}))^c$

**Proof:** Let  $\lambda^{\mu} = ((\lambda^{\mu})^+, (\lambda^{\mu})^-)$  be a bipolar L-fuzzy subset of  $\vartheta_1$  then for each  $X \in \vartheta_1$ , Let  $f(X) = U \in \vartheta_2$ 

• 
$$[f((\lambda^{\mu})^{c})]^{+}(U) = \max \{((\lambda^{\mu})^{c})^{+}(X) : X \in f^{-1}(U)\}$$

$$= \max \{1 - (\lambda^{\mu})^{+}(X) : X \in f^{-1}(U)\}$$

$$= 1 - f_{a}((\lambda^{\mu})^{+})(U)$$

$$= [f_{a}((\lambda^{\mu})^{+})]^{c}(U)$$

$$[f((\lambda^{\mu})^{c})]^{+} = [f_{a}((\lambda^{\mu})^{+})]^{c}$$

$$[f((\lambda^{\mu})^{c})]^{-}(U) = \max \{((\lambda^{\mu})^{c})^{-}(X) : X \in f^{-1}(U)\}$$

$$= \max \{-1 - (\lambda^{\mu})^{-}(X) : X \in f^{-1}(U)\}$$

$$= -1 - f_{a}((\lambda^{\mu})^{-})(U)$$

$$= [f_{a}((\lambda^{\mu})^{-})]^{c} (U)$$

$$[f((\lambda^{\mu})^{c})]^{-} = [f_{a}((\lambda^{\mu})^{-})]^{c}$$

$$Hence, f((\lambda^{\mu})^{c}) = (f_{a}(\lambda^{\mu}))^{c}$$

$$• [f_{a}((\lambda^{\mu})^{c})]^{+}(U) = \min \{((\lambda^{\mu})^{c})^{+}(X) : X \in f^{-1}(U)\}$$

$$= 1 - max \{(\lambda^{\mu})^{+}(X) : X \in f^{-1}(U)\}$$

$$= 1 - max \{(\lambda^{\mu})^{+}(X) : X \in f^{-1}(U)\}$$

$$= 1 - f((\lambda^{\mu})^{+})(U)$$

$$= [f((\lambda^{\mu})^{+})]^{c} (U)$$

$$[f_{a}((\lambda^{\mu})^{c})]^{+} = [f((\lambda^{\mu})^{+})]^{c}$$

$$[f_{a}((\lambda^{\mu})^{c})]^{+} = [f((\lambda^{\mu})^{+})]^{c}$$

$$[f_{a}((\lambda^{\mu})^{c})]^{-}(U) = \min \{((\lambda^{\mu})^{c})^{-}(X) : X \in f^{-1}(U)\}$$

$$= -1 - max \{(\lambda^{\mu})^{-}(X) : X \in f^{-1}(U)\}$$

$$= -1 - f((\lambda^{\mu})^{-})(U)$$

$$= [f((\lambda^{\mu})^{-})]^{c} (U)$$

$$[f_{a}((\lambda^{\mu})^{c})]^{-} = [f((\lambda^{\mu})^{-})]^{c}$$

$$Hence, f_{a}((\lambda^{\mu})^{c})]^{-} = [f((\lambda^{\mu})^{-})]^{c}$$

$$Hence, f_{a}((\lambda^{\mu})^{c}) = (f(\lambda^{\mu}))^{c}$$

**Theorem 3.3:** Let f be a homomorphism from a  $\ell$  - HX group  $\vartheta_1$  in to a  $\ell$  - HX group  $\vartheta_2$ . If  $\lambda^{\mu} = ((\lambda^{\mu})^+, (\lambda^{\mu})^-)$  is a bipolar anti L - fuzzy sub  $\ell$  - HX group of  $\vartheta_1$  then the anti image  $f_a(\lambda^{\mu})$  of  $\lambda^{\mu}$  under f is a bipolar anti L - fuzzy sub  $\ell$  - HX group of  $\vartheta_2$ 

**Proof:** Let  $\lambda^{\mu} = ((\lambda^{\mu})^{+}, (\lambda^{\mu})^{-})$  be a bipolar anti L fuzzy sub  $\ell$  - HX group of a  $\ell$  - HX group  $\vartheta_{1}$ . For all A,B in  $\vartheta_{1}$ .

• $(f_a(\lambda^{\mu}))^+((f(A)f(B)))$	$= (f_a(\lambda^{\mu}))^+ (f(AB))$	1 U
	$= (\lambda^{\mu})^{+}(AB)$	1-H
	$\leq (\lambda^{\mu})^{\scriptscriptstyle +}(A) \vee (\lambda^{\mu})^{\scriptscriptstyle +}(B)$	•
	$\leq (f_a(\lambda^{\mu}))^{+}(f(A))_a \forall (f(\lambda^{\star}))(f(B))$	
$f_a(\lambda^\mu))^{\scriptscriptstyle +}((f(A)f(B)))$	$B)) \leq (f_a(\lambda^{\mu}))^+(f(A)) \vee (f_a(\lambda^{\mu}))^+(f(B))$	
• $(f_a(\lambda^{\mu}))^{-}((f(A)f(B)))$	$=(f_a(\lambda^{\mu}))^{-}(f(AB))$	
	$= (\lambda^{\mu})^{-}(AB)$	•
	$\geq (\lambda^{\mu})^{-}(A) \wedge (\lambda^{\mu})^{-}(B)$	
	$\geq (f_a(\lambda^{\mu}))^{\underline{\cdot}}(f(A)) \wedge (f_a(\lambda^{\mu}))^{\underline{\cdot}}(f(B))$	
$(f_a(\lambda^\mu))^-((f(A)f(H))^-)$	$\mathbf{B})) \geq (\mathbf{f}_{\mathbf{a}}(\boldsymbol{\lambda}^{\boldsymbol{\mu}}))^{-}(\mathbf{f}(\mathbf{A})) \wedge (\mathbf{f}_{\mathbf{a}}(\boldsymbol{\lambda}^{\boldsymbol{\mu}}))^{-}(\mathbf{f}(\mathbf{B}))$	
• $(f_a(\lambda^{\mu}))^{+}(f(A)^{-1})$	$= (f_a(\lambda^{\mu}))^+ (f(A^{-1}))$	
	$=(\lambda^{\mu})^{+}(\mathrm{A}^{-1})$	•
	$= (\lambda^{\mu})^{+}(A)$	
	$=(f_a(\lambda^{\mu}))^+(f(A))$	
$(\mathbf{f}_{\mathbf{a}}(\boldsymbol{\lambda}^{\mu}))^{+}(\mathbf{f}(\mathbf{A})^{-1})$	$= (f_a(\lambda^{\mu}))^+ (f(A))$	
• $(f_a(\lambda^{\mu}))^{-1}(f(A)^{-1})$	$= (\mathbf{f}_{\mathbf{a}}(\boldsymbol{\lambda}^{\mu}))^{-}(\mathbf{f}(\mathbf{A}^{-1}))$	
	$= (\lambda^{\mu})^{-}(A^{-1})$	•
	$= (\lambda^{\mu})^{-}(A)$	
	$=(f_a(\lambda^{\mu}))^{-}(f(A))$	
$(\mathbf{f}_{\mathbf{a}}(\boldsymbol{\lambda}^{\mu}))^{-}(\mathbf{f}(\mathbf{A})^{-1})$	$=(f_a(\lambda^{\mu}))^{-}(f(A))$	
• $(f_a(\lambda^{\mu}))^+((f(A)\vee f(B)))^+$	$)) = (f_{a}(\lambda^{\mu}))^{+}(f(A \lor B))$	
	$= (\lambda^{\mu})^{+} (A \vee B)$	•
	$\leq (\lambda^{\mu})^{+}(A) \vee (\lambda^{\mu})^{+}(B)$	
	$\leq (f_a(\lambda^{\mu}))^{\scriptscriptstyle +}(f(A)) \vee (f_a(\lambda^{\mu}))^{\scriptscriptstyle +}(f(B))$	
$(\mathbf{f}_{\mathbf{a}}(\boldsymbol{\lambda}^{\mu}))^{+}((\mathbf{f}(\mathbf{A})\vee\mathbf{f}(\mathbf{B})))$	$)) \leq (f_{a}(\lambda^{\mu}))^{+}(f(A)) \vee (f_{a}(\lambda^{\uparrow})) (f(B))$	
• $(f_a(\lambda^{\mu}))^{-}((f(A)\vee f(B)))^{-}(f(A)\vee f(B)))^{-}(f(A)\vee f(B))^{-}(f(A)\vee f(B))^{-})^{-}(f(A)\vee f(B))^{-})^{-}(f(A)\vee f(B))^{-})^{-}(f(A)\vee f(B))^{-})^{-}(f(A)\vee f(B))^{-})^{-}(f(A)\vee f(B))^{-})^{-}(f(A)\vee f(B))^{-})^{-}(f(A)\vee f(B))^{-})^{-})^{-}(f(A)\vee f(B))^{-})^{-})^{-}(f(A)\vee f(B))^{-})^{-})^{-}(f(A)\vee f(B))^{-})^{-})^{-}(f(A)\vee f(B))^{-})^{-})^{-})^{-})^{-}(f(A)\vee f(B))^{-})^{-})^{-})^{-})^{-})^{-})^{-})^{-$	$= (f_a(\lambda^{\mu}))^{-}(f(A \vee B))$	
	$= (\lambda^{\mu})^{-}(A \vee B)$	•
	$\geq (\lambda^{\mu})^{-}(A) \wedge (\lambda^{\mu})^{-}(B)$	
	$\geq (f_a(\lambda^{\mu}))^{\cdot}(f(A)) \wedge (f_a(\lambda^{\mu}))^{\cdot}(f(B))$	
$(f_a(\lambda^{\mu}))^{-}((f(A)\vee f(B)))^{-}(f(A)\vee f(B))$	$)) \geq (f_{a}(\lambda^{\mu}))^{-}(f(A)) \wedge (f_{a}(\lambda^{\mu}))^{-}(f(B))$	
• $(f_a(\lambda^{\mu}))^+((f(A)\wedge f(B)))^+$	$)) = (f_a(\lambda^{\mu}))^+(f(A \land B))$	•
	$= (\lambda^{\mu})^{+}(A \wedge B)$	
	$\leq (\lambda^{\mu})^{+}(A) \vee (\lambda^{\mu})^{+}(B)$	
	$\leq (f_a(\lambda^{\mu}))^{*}(f(A)) \vee (f_a^{\mu}(\lambda^{*})) (f(B))$	
$(f_a(\lambda^\mu))^+((f(A)\wedge f(B)))$	$)) \leq (f_{a}(\lambda^{\mu}))^{+}(f(A)) \vee (f(\lambda^{\mu}))^{+}(f(B))$	
• $(f_a(\lambda^{\mu}))^{-}((f(A) \land f(B)$	$= (f_a(\lambda^{\mu}))^{-}(f(A \vee B))$	•
	$= (\lambda^{\mu})^{-}(A \vee B)$	
	$\geq (\lambda^{\mu})^{-}(A) \vee (\lambda^{\mu})^{-}(B)$	
$\geq (f_{a})$	$(\lambda^{\mu}))^{-}(f(A)) \vee (f_{a}(\lambda^{\mu}))^{-}(f(B))$	
$(f_{a}(\lambda^{\mu}))^{-}((f(A) \land f(B)) \geq (f_{a})^{-}$	$(\lambda^{\mu})^{-}(f(A)) \vee (f_{\alpha}(\lambda^{\mu}))^{-}(f(B))$	

Hence,  $f_a(\lambda^{\mu}) = ((f_a(\lambda^{\mu}))^+, (f_a(\lambda^{\mu}))^-)$  is a bipolar anti L fuzzy sub  $\ell$  - HX group of a  $\ell$  - HX group  $\vartheta_2$ 

**Theorem 3.4:** The homomorphic anti pre-image of a bipolar anti

L - fuzzy sub  $\ell$  - HX group  $\eta^{\alpha} = ((\eta^{\alpha})^{+}, (\eta^{\alpha})^{-})$  of a l - HX group  $\vartheta_{2}$  is a bipolar anti  $\ell$  - fuzzy sub  $\ell$  - HX group of a  $\ell$  - HX group  $\vartheta_{1}$ 

<b>Proof:</b> Let $\eta^{\alpha} = ((\eta^{\alpha})^+, (\eta^{\alpha})^-)$ be a	a bipolar anti L - fuzzy sub
1 - HX group of a 1 - HX group	$\vartheta_{2}$ .

In group of all in	1 510 up 6 2.
• $(f^{-1}(\eta^{\alpha}))^{+}(AB)$	$= (\eta^{\alpha})^{+}(f(AB))$
	$= (\eta^{\alpha})^{+}(f(A) f(B))$
	$\leq (\eta^{\alpha})^{\scriptscriptstyle +}(f(A)) \vee (\eta^{\alpha})^{\scriptscriptstyle +}(f(B))$
	$\leq (f^{-1}(\eta^\alpha))^{\scriptscriptstyle +}\!(A) \vee (f^{-1}(\eta^\alpha))^{\scriptscriptstyle +}\!(B)$
$(f^{-1}(\eta^{\alpha}))^{+}(AB)$	$\leq (f^{-1}(\eta^\alpha))^{\scriptscriptstyle +}\!(A) \vee (f^{-1}(\eta^\alpha))^{\scriptscriptstyle +}\!(B)$
• $(f^{-1}(\eta^{\alpha}))^{-}(AB)$	$=(\eta^{\alpha})^{-}(f(AB))$
	$=(\eta^{\alpha})^{-}(f(A) f(B))$
	$\geq (\eta^{\alpha})^{\text{-}}(f(A)) \land (\eta^{\alpha})^{\text{+}}(f(B))$
	$\geq (f^{-1}(\eta^{\alpha}))^{\underline{\cdot}}(A) \wedge (f^{-1}(\eta^{\alpha}))^{\underline{\cdot}}(B)$
$(f^{-1}(\eta^{\alpha}))^{-}(AB)$	$\geq (f^{-1}(\eta^{\alpha}))^{\cdot}(A) \wedge (f^{-1}(\eta^{\alpha}))^{\cdot}(B)$
• $(f^{-1}(\eta^{\alpha}))^{+}(A^{-1})$	$= (\eta^{\alpha})^{+}(\mathbf{f}(\mathbf{A}^{-1}))$
	$= (\eta^{\alpha})^{+}(f(A)^{-1})$
	$=(\eta^{\alpha})^{+}(f(A))$
	$= (\mathbf{f}^{-1}(\boldsymbol{\eta}^{\alpha}))^{+}(\mathbf{A})$
$(f^{-1}(\eta^{\alpha}))^{+}(A^{-1})$	$= (\mathbf{f}^{-1}(\boldsymbol{\eta}^{\alpha}))^{+}(\mathbf{A})$
• $(f^{-1}(\eta^{\alpha}))^{-1}(A^{-1})$	$=(\eta^{\alpha})^{-}(\mathbf{f}(\mathbf{A}^{-1}))$
	$= (\eta^{\alpha})^{-1} (f(A)^{-1})$
	$=(\eta^{\alpha})^{-}(\mathbf{f}(\mathbf{A}))$
	$= (\mathbf{f}^{-1}(\boldsymbol{\eta}^{\alpha}))^{-}(\mathbf{A})$
$(f^{-1}(\eta^{\alpha}))^{-1}(A^{-1})$	$= (\mathbf{f}^{-1}(\boldsymbol{\eta}^{\alpha}))^{-}(\mathbf{A})$
• $(f^{-1}(\eta^{\alpha}))^{+}(A \lor B)$	$= (\eta^{\alpha})^{+}(f(A \lor B))$
	$= (\eta^{\alpha})^{+}(f(A) \vee f(B))$
	$\leq (\eta^{\alpha})^{\scriptscriptstyle +}(f(A)) \vee (\eta^{\alpha})^{\scriptscriptstyle +}(f(B))$
	$\leq (f^{-1}(\eta^\alpha))^{\scriptscriptstyle +}(A) \vee (f^{-1}(\eta^\alpha))^{\scriptscriptstyle +}(B)$
$(f^{-1}(\eta^{\alpha}))^{+}(A \vee B)$	$\leq (f^{-1}(\eta^\alpha))^{\scriptscriptstyle +}(A) \vee (f^{-1}(\eta^\alpha))^{\scriptscriptstyle +}(B)$
• $(f^{-1}(\eta^{\alpha}))^{-}(A \lor B)$	$=(\eta^{\alpha})^{-}(f(A \lor B))$
	$= (\eta^{\alpha})^{-}(f(A) \vee f(B))$
	$\geq (\eta^{\alpha})^{-}(f(A)) \land (\eta^{\alpha})^{-}(f(B))$
	$\geq (f^{-1}(\eta^{\alpha}))^{-}(A) \wedge f^{-1}(\eta^{\alpha}))^{-}(B)$
$(f^{-1}(\eta^{\alpha}))(A \land B)$	$\geq (f^{-1}(\eta^{\alpha}))^{-}(A) \wedge (f^{-1}(\eta^{\alpha}))^{-}(B)$
• $(f^{-1}(\eta^{\alpha}))^{+}(A \land B)$	$= (\eta^{\alpha})^{+}(f(A \land B))$
	$= (\eta^{\alpha})^{+}(f(A) \wedge f(B))$
	$\leq (\eta^{\alpha})^{+}(f(A)) \vee (\eta^{\alpha})^{+}(f(B))$
	$\leq (\mathbf{f}^{-1}(\mathbf{\eta}^{\alpha}))^{+}(\mathbf{A}) \vee (\mathbf{f}^{-1}(\mathbf{\eta}^{\alpha}))^{+}(\mathbf{B})$
$(f^{-1}(\eta^{\alpha}))^{+}(A \wedge B)$	$\leq (f^{-1}(\eta^{\alpha}))^{\scriptscriptstyle +}(A) \vee (f^{-1}(\eta^{\alpha}))^{\scriptscriptstyle +}(B)$
• $(f^{-1}(\eta^{\alpha}))(A \wedge B)$	$= (\eta^{\alpha})^{-}(f(A \land B))$
	$= (\eta^{\alpha})^{-}(f(A) \wedge f(B))$
	$\geq (\eta^{\alpha})^{-}(f(A)) \wedge (\eta^{\alpha})^{-}(f(B))$
	$\geq (f^{-1}(\eta^{\alpha}))^{-}(A) \land (f^{-1}(\eta^{\alpha}))^{-}(B)$
$(f^{-1}(\eta^{\alpha}))^{-}(A \wedge B)$	$\geq (f^{-1}(\eta^{\alpha}))^{-}(A) \wedge (f^{-1}(\eta^{\alpha}))^{-}(B)$

Hence,  $f^{-1}(\eta^{\alpha}) = ((f^{-1}(\eta^{\alpha}))^+, (f^{-1}(\eta^{\alpha})^-)$  is a bipolar anti L - fuzzy sub  $\ell$  - HX group of a  $\ell$  - HX group  $\vartheta_1$ .

**Theorem 3.5:** Let f be an anti homomorphism from a  $\ell$  -HX group  $\vartheta_1$  in to a  $\ell$  - HX group  $\vartheta_2$ . If  $\lambda^{\mu} = ((\lambda^{\mu})^+, (\lambda^{\mu})^-)$  is a bipolar anti L - fuzzy sub  $\ell$  - HX group of  $\vartheta_1$  then the anti image  $f_a(\lambda^{\mu})$  of  $\lambda^{\mu}$  under f is a bipolar anti L - fuzzy sub  $\ell$  - HX group of  $\vartheta_2$ .

<b>Proof:</b> Let $\lambda^{\mu} = ((\lambda^{\mu})^{+}, (\lambda^{\mu})^{-})$ be a	bipolar anti L - fuzzy sub
$\ell$ - HX group of a $\ell$ - HX group	$\vartheta_1$ for all A,B in $\vartheta_1$ .

- H	X group of a ℓ - HX g	group $\vartheta_1$ for all A,B in $\vartheta_1$ .
٠	$f_a(\lambda^{\mu})^{\scriptscriptstyle +}((f(A)\;f(B))$	$=(f_a(\lambda^{\mu}))^+(f(BA))$
		$=(\lambda^{\mu})^{+}(BA)$
		$\leq (\lambda^{\mu})^{\scriptscriptstyle +}(B) \forall (\lambda^{\mu})^{\scriptscriptstyle +}(A)$
		$\leq (\lambda^{\mu})^{*}(A) \vee (\lambda^{\mu})^{*}(B)$
		$\leq (f_a(\lambda^{\mu}))^{\scriptscriptstyle +}(f(A)) \vee (f_a(\lambda^{\mu}))^{\scriptscriptstyle +}(f(B))$
٠	$f_a(\lambda^{\mu})^{-}((f(A) f(B)))$	$=(\mathbf{f}_{\mathbf{a}}(\lambda^{\mu}))^{-}(\mathbf{f}(\mathbf{BA}))$
		$=(\lambda^{\mu})^{-}(BA)$
		$\geq (\lambda^{\mu})^{-}(B) \wedge (\lambda^{\mu})^{-}(A)$
		$\geq (\lambda^{\mu})^{-}(A) \wedge (\lambda^{\mu})^{-}(B)$
		$\geq (f_a(\lambda^{\mu}))^{-}(f(A)) \wedge (f_a(\lambda^{\mu}))^{-}(f(B))^{-}$
٠	$(f_a(\lambda^{\mu}))^{+}(f(A)^{-1})$	$= (\mathbf{f}_{\mathbf{a}}(\boldsymbol{\lambda}^{\mu}))^{+}(\mathbf{f}(\mathbf{A}^{-1}))$
		$=(\lambda^{\mu})^{+}(\mathrm{A}^{-1})$
		$=(\lambda^{\mu})^{+}(\mathbf{A})$
		$=(\mathbf{f}_{\mathbf{a}}(\boldsymbol{\lambda}^{\mu}))^{+}(\mathbf{f}(\mathbf{A}))$
	$(f_a(\lambda^\mu))^+(f(A)^{-1})$	$= (f_a(\lambda^{\mu}))^+ (f(A))$
•	$(f_a(\lambda^{\mu}))^{-1}(f(A)^{-1})$	$= (\mathbf{f}_{\mathbf{a}}(\lambda^{\mu}))^{-}(\mathbf{f}(\mathbf{A}^{-1}))$
		$= (\lambda^{\mu})^{-} (A^{-1})$
		$=(\lambda^{\mu})^{\prime}(\mathbf{A})$
	$(\mathbf{C}, (\mathbf{A})) \rightarrow (\mathbf{C}, \mathbf{A}) = 1$	$= (\mathbf{f}_{\mathbf{a}}(\boldsymbol{\lambda}^{\mu}))^{\circ}(\mathbf{f}(\mathbf{A}))$
	$(f_a(\Lambda^{\mu}))^*(f(A)^{-1})$	$= (f_a(\lambda^{\mu}))^{*}(f(A))$
•	$(f_a(\lambda^{\mu}))^*((f(A) \vee f(B)))$	$= (f_a(\lambda^{\mu}))^* (f(A \vee B))$
		$= (\lambda^{\mu})^{\mu} (A \lor B)$
		$\leq (\lambda^{\mu})^{*}(\mathbf{A}) \vee (\lambda^{\mu}(\mathbf{B}))^{*}(\mathcal{C}(\lambda^{\mu}))^{*}(\mathcal{C}(\mathbf{D}))$
		$\leq (\mathbf{I}_{a}(\Lambda^{r})) (\mathbf{I}(\mathbf{A})) \vee (\mathbf{I}_{a}(\Lambda^{r})) (\mathbf{I}(\mathbf{B}))$
	$(I_a(\Lambda^r)) ((I(A) \lor I(B)))$ $(f(\Lambda u))^{-}((f(\Lambda)) \lor f(D))$	$\leq (I_a(\Lambda^r)) (I(A)) \vee (I_a(\Lambda^r)) (I(B))$ = $(f(\Lambda^u))^{-}(f(A)/D))$
•	$(I_a(\Lambda^{\circ}))((I(\Lambda) \lor I(D)))$	$= (1_{a}(\mathbf{\lambda} \cdot \mathbf{J})) (\mathbf{I}(\mathbf{A} \vee \mathbf{B}))$ $= (1_{a} \mathbf{\mu}) (\mathbf{A} \vee \mathbf{D})$
		$= (\lambda^{\mu}) (\Lambda^{\mu} D)$
		$\geq (\Lambda') (\Lambda) \land (\Lambda') (\mathbf{D})$ $\geq f(\lambda^{\mu}) \cdot (f(\Lambda)) \land (f(\lambda^{\mu})) \cdot (f(\mathbf{D}))$
	$(f(\lambda)) - ((f(\lambda))/f(D))$	$\geq I_{a}(\mathcal{N}) (I(\mathcal{A})) \land (I_{a}(\mathcal{N})) (I(\mathcal{D}))$ $\geq (f(\lambda^{\mu}))^{-}(f(\Lambda)) \land (f(\lambda^{\mu}))^{-}(f(\mathcal{D}))$
	$(I_a(\Lambda))((I(\Lambda) \lor I(D)))$ $(f(\Lambda)^{\mu})^+((f(\Lambda) \land f(D)))$	$= (\mathbf{f}(\lambda^{\mu}))^{+} (\mathbf{f}(\lambda \wedge \mathbf{R}))$
•	$(\mathbf{I}_{a}(\mathcal{M}))$ $((\mathbf{I}(\mathcal{M}))$	$= (\lambda^{\mu})^{+} (\Lambda \wedge \mathbf{B})$
		$\langle (\lambda^{\mu})^{+}(\mathbf{A}) \vee (\lambda^{\mu})^{+}(\mathbf{B})$
		$\leq (f(\lambda^{\mu}))^{+}(f(A)) \setminus (f(\lambda^{\mu}))^{+}(f(B))$
	$(f(\lambda^{\mu}))^{+}((f(A)\wedge f(B)))$	$\leq (\mathbf{f}(\boldsymbol{\lambda}^{\mu}))^{+}(\mathbf{f}(\mathbf{A})) \vee (\mathbf{f}(\boldsymbol{\lambda}^{\mu}))^{+}(\mathbf{f}(\mathbf{B}))$
•	$(f(\lambda^{\mu}))^{-}((f(A)\wedge f(B)))$	$= (f(\lambda^{\mu}))^{-}(f(A \land B))$
	(-a(**))((-(*)))((-(D)))	$= (\lambda^{\mu})^{-} (A \land B)$
		$\geq (\lambda^{\mu})^{-}(\mathbf{A}) \wedge (\lambda^{\mu})^{-}(\mathbf{B})$
		$\geq (\mathbf{f}_{\mathfrak{s}}(\lambda^{\mu}))^{-}(\mathbf{f}(\mathbf{A})) \wedge (\mathbf{f}_{\mathfrak{s}}(\lambda^{\mu}))^{-}(\mathbf{f}(\mathbf{B}))$
	$(f_a(\lambda^{\mu}))^{-}((f(A)\wedge f(B)))$	$\geq (\mathbf{f}_{a}(\lambda^{\mu}))^{-}(\mathbf{f}(\mathbf{A})) \wedge (\mathbf{f}_{a}(\lambda^{\mu}))^{-}(\mathbf{f}(\mathbf{B}))$

Hence,  $f_a(\lambda^{\mu}) = ((f_a(\lambda^{\mu}))^+, (f_a(\lambda^{\mu}))^-)$  is a bipolar anti L fuzzy sub  $\ell$  - HX group of a  $\ell$  - HX group  $\vartheta_2$ .

**Theorem 3.6:** The anti homomorphic anti pre-image of a bipolar anti L - fuzzy sub  $\ell$  - HX group  $\eta^{\alpha} = ((\eta^{\alpha})^{+}, (\eta^{\alpha})^{-})$  of a  $\ell$  - HX group  $\vartheta_{2}$  is a bipolar anti L - fuzzy sub  $\ell$  - HX group of a  $\ell$  - HX group  $\vartheta_{1}$ 

**Proof:** Let  $\eta^{\alpha} = ((\eta^{\alpha})^+, (\eta^{\alpha}))$  be a bipolar anti L - fuzzy sub  $\ell$  - HX group of a  $\ell$  - HX group  $\vartheta_2$ .

0 - F - C	-2
• $(f^{-1}(\eta^{\alpha}))^{+}(AB)$	$= (\eta^{\alpha})^{+}(f(AB))$
	$= (\eta^{\alpha})^{+}(f(B)f(A))$
	$\leq (\eta^{\alpha})^{+}(f(B)) \vee (\eta^{\alpha})^{+}(f(A))$
	$\leq (\eta^{\alpha})^{+}(f(A)) \vee (\eta^{\alpha})^{+}(f(B))$
	$\leq (f^{-1}(\eta^{\alpha}))^{+}(A) \lor (f^{-1}(\eta^{\alpha}))^{+}(B)$
$(f^{-1}(\eta^{\alpha}))^{+}(AB)$	$\leq (f^{-1}(\eta^{\alpha}))^{+}(A) \vee (f^{-1}(\eta^{\alpha}))^{+}(B)$
• $(f^{-1}(\eta^{\alpha}))^{-1}(AB)$	$= (\eta^{\alpha})^{-} (f(AB))$
	$= (\eta^{\alpha})^{-}(f(B)f(A))$
	$\geq (\eta^{\alpha})^{-}(f(B)) \wedge (\eta^{\alpha})^{-}(f(A))$
	$\geq (\eta^{\alpha})^{-}(f(A)) \wedge (\eta^{\alpha})^{-}(f(B))$
	$\geq$ (f <sup>-1</sup> (n <sup><math>\alpha</math></sup> )) (A) $\wedge$ (f <sup>-1</sup> (n <sup><math>\alpha</math></sup> )) (B)
$(f^{-1}(\mathbf{n}^{\alpha}))^{-}(AB)$	$\geq$ (f <sup>-1</sup> (n <sup><math>\alpha</math></sup> )) <sup>-</sup> (A) $\wedge$ (f <sup>-1</sup> (n <sup><math>\alpha</math></sup> )) <sup>-</sup> (B)
• $(f^{-1}(n^{\alpha}))^{+}(A^{-1})$	$=(n^{\alpha})^{+}(f(A^{-1}))$
	$= (\eta^{\alpha})^{+} (f(A)^{-1})$
	$=(\eta^{\alpha})^{+}(f(A))$
	$=(f^{-1}(n^{\alpha}))^{+}(A)$
$(f^{-1}(n^{\alpha}))^{+}(A^{-1})$	$=(f^{-1}(n^{\alpha}))^{+}(A)$
• $(f^{-1}(n^{\alpha}))(A^{-1})$	$=(\mathbf{n}^{\alpha})^{-}(\mathbf{f}(\mathbf{A}^{-1}))$
	$= (n^{\alpha})^{-1} (f(A)^{-1})$
	$=(\eta^{\alpha})^{-}(\mathbf{f}(\mathbf{A}))$
	$=(f^{-1}(n^{\alpha}))^{-}(A)$
$(f^{-1}(\eta^{\alpha}))^{-}(A^{-1})$	$=(f^{-1}(n^{\alpha}))^{-1}(A)$
• $(f^{-1}(\mathbf{n}^{\alpha}))^{+}(A \lor B)$	$=(\eta^{\alpha})^{+}(f(A \lor B))$
	$=(\eta^{\alpha})^{+}(f(A) \vee f(B))$
	$\leq (\eta^{\alpha})^{+}(f(A)) \vee (\eta^{\alpha})^{+}(f(B))$
	$\leq (f^{-1}(\eta^{\alpha}))^{+}(A) \vee (f^{-1}(\eta^{\alpha}))^{+}(B)$
$(f^{-1}(\eta^{\alpha}))^{+}(A \lor B)$	$\leq (f^{-1}(\eta^{\alpha}))^{+}(A) \vee (f^{-1}(\eta^{\alpha}))^{+}(B)$
• $(f^{-1}(\eta^{\alpha}))(A \lor B)$	$= (\eta^{\alpha})^{-} (f(A \lor B))$
	$= (\eta^{\alpha})^{-} (f(A) \lor f(B))$
	$\geq (\eta^{\alpha})^{-}(f(A)) \wedge (\eta^{\alpha})^{-}(f(B))$
	$\geq (f^{-1}(\eta^{\alpha}))^{-}(A) \wedge (f^{-1}(\eta^{\alpha}))^{-}(B)$
$(f^{-1}(\eta^{\alpha}))^{-}(A \lor B)$	$\geq (f^{-1}(\eta^{\alpha}))^{-}(A) \wedge (f^{-1}(\eta^{\alpha}))^{-}(B)$
• $(f^{-1}(\eta^{\alpha}))^{+}(A \land B)$	$= (\eta^{\alpha})^{+} (f(A \land B))$
	$= (\eta^{\alpha})^{+}(f(A) \vee f(B))$
	$\leq (\eta^{\alpha})^{+}(f(A)) \vee (\eta^{\alpha})^{+}(f(B))$
	$\leq (f^{-1}(\eta^{\alpha}))^{+}(A) \vee (f^{-1}(\eta^{\alpha}))^{+}(B)$
$f^{-1}(\eta^{\alpha}))^{+}(A \wedge B)$	$\leq (f^{-1}(\eta^{\alpha}))^{+}(A) \vee (f^{-1}(\eta^{\alpha}))^{+}(B)$
<ul> <li>(f<sup>-1</sup>(η<sup>α</sup>)) (A∧B)</li> </ul>	$=(\eta^{\alpha})^{-}(f(A \land B))$
· · · · / · · /	$= (\eta^{\alpha})^{-}(f(A) \wedge f(B))$
	$\geq (\eta^{\alpha})^{-}(f(A)) \wedge (\eta^{\alpha})^{-}(f(B))$
	$\geq (f^{-1}(\eta^{\alpha}))^{-}(A) \wedge (f^{-1}(\eta^{\alpha}))^{-}(B)$
$(f^{-1}(\eta^{\alpha}))^{-}(A \land B)$	$\geq (f^{-1}(\eta^{\alpha}))^{\cdot}(A) \wedge (f^{-1}(\eta^{\alpha}))^{\cdot}(B)$

Hence,  $f^{-1}(\eta^{\alpha}) = ((f^{-1}(\eta^{\alpha}))^+, (f^{-1}(\eta^{\alpha})^-)$  is a bipolar anti L - fuzzy sub  $\ell$  - HX group of a  $\ell$  - HX group  $\vartheta_1$ .

## CONCLUSION

In this paper we discuss the notion of an anti image and anti pre-image of bipolar anti L - fuzzy sub  $\ell$  - HX group of a  $\ell$  - HX group under  $\ell$  - HX group homomorphism and  $\ell$  - HX group anti homomorphism.

## REFERENCES

- Zadeh, L.A., 1965. "Fuzzy Sets", Inform and Control, 8: 338-365.
- Rosenfeld, A., 1971. Fuzzy Groups, J. Math. Anal. Appl., 35: 512-517.
- 3. Li Hongxing, 1987. HX group, BUSEFAL, 33: 31-37.
- Luo Chengzhong, Mi Honghai and Li Hongxing, 1989. Fuzzy HX group, BUSEFAL, 41-14: 97-106.

- 5. Zhang, W.R., 1998. "Bipolar fuzzy sets", Proc. of FUZZ-IEEE, pp: 835-840.
- Lee, K.M., 2000. Bipolar-valued fuzzy sets and their operations, Proc. Int. Conf.on Intelligent Technologies, Bangkok, Thailand, pp: 307-312.
- Satya saibaba, G.S.V., 2008. Fuzzy lattice ordered groups, South east Asian Bulletin of Mathematics, 32: 749-766.
- Goguen, J.A., 1967. L-Fuzzy sets, J.Math Anal. Appl., 18: 145-174.
- 9. Muthuraj, R. and M. Sridharan, 2014. Homomorphism and anti homomorphism On a Bipolar anti fuzzy sub HX group, SVRM Science Journal, E-ISSN:2348-2923, Volume.2.Issue.1. 2014(Jan-Mar).
- Muthuraj, R. and T. Rakesh kumar, XXXX. Some Characterization of L-Fuzzy l - HX group, International Journal of Engineering Associates, 38(5): 7.